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£7, 35 5 RN AN = VSN % < )| T [
W= Iy G
B RAR 1 X
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ITTAY SHRHE S 9. 5m SRMETIAR 9. Om $f
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Pergha et - iRk GRS e
SHERERE R 1 2V
IETEEH 200 X80 ; AXE - Wl SpF 2 20597 &
i
AR EE T 2 6, 880, 980 | A% @A E L B 1 =X
B EHT 2 2,039, 840 |AZWITHEEEE 1 =
G = 35, 194, 992
EEEET = 16, 345, 610
%S e L X 157,040 | ARpEi%IE 1, 300 m2
fHEMIEL
ERLL R T = 89, 350 | RpEFEIE 500 m2
fHEMIEL
HEARMEEZET = 9,627,300 | FIE&M (HIiE - BEE) 1, 000 m2
BAIT9v477 RC-40 1 Y JE 200mn ;
R (HEGE - BRI ) 1, 000 m2
RIEFTIHEA M-30 {1 =9 & 150mm ;
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FAHRLET A2y (20) AH%E/E 50mm 3. OmiR 5 4y/
-pETe
W g (8 - B ) 1, 000 m2
FAHRLET A2y (20) AH%E/E 50mm 3. OmiR ; 4y/
-pETe
Pk vEhLE - RIg (8 - BBE ) 1, 000 m2
K =7A7A2v (20) EHZEE 50mm 2. 4mPh ko fya-h
(T AAD) ETe
HEARMEEZE T = 5,374,250 | NI (HiE - BEE) 500 m2
BAT9v477 RC-40 1 Y JE 200mn ;
R (HEE - BRI ) 500 m2
R A M-30 {1 =0 JE 150mm ;
R (HEE - BRI ) 500 m2
FAASZE EHLER (25) {1 BV E 100mm ; 7° 74ha-
METe
g (I - BIF ) 500 m2
AR ET A2y (20) AHEE/E 50mm 3. Omid ; 4y/
-pETe
W g (8 - B ) 500 m2
AR ET A2y (20) AHEE/E 50mm 3. Omid ; 4y/
-pETe
Bk vEShLE - RIE (HE - BBE ) 500 m2
K =7A7A2v (20) EHZEE 50mm 2. 4mPh k) fya-h
(TAAD) ETe
BKPEEEE T 2 1,053,120 |7(M-JE 300 n2
B> A v & 50mm ;
T B GRE ) 300 m2
BAT9v477 RC-40 1 Y E 100mn ;
3] 300 m2
BRKIEET A2/ (13) 1. 4mPA E2. AmAis &H%E/E 40m
m;
& G T E2y 44, 550 | BETE YA 53 m2
S EDEIE S 45mm BEFET Y O HEESERE
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TAT7 M ODEE
Bh AT L 2 1 15, 683, 004
PEANIBA AT L 2 1 14,627,418 | B & 20 -1 v-w GEfGE R ) 421 m
Gr-Bm-2B($%) (A) ; TEMELe
i 2= 2 -8 v Gl FL) 58 m
Gr-Bm—2B () () WA ;
PEANIBA AT L 2 1 1,055,586 | & & 20h -1 V-w GHLfE HEARE) 123 m
Gr-Bm—2B () () WA ;
SN = 1 436, 440
/NIRRT = 1 436, 440 | {EERAT: 1 e
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) R D HRERE U FERREAL 2V - b R E T
TEERARAR 1 r5e
FEEMLEREER 1350X450 (Z D% AN2{EH D)
s A& BE T
AL 2
BORERC (G & J0) Rt ; Mk IiE st
AL 1
R (LA L) Rl 3t 5 IRIE Y MR L,
WL FREED
X [E L = 1 2,499, 098
X IR T 2 1 566, 296 | VARl =X H#R 540 m
R Tl FE8R 15em JE L 5mm HEAKPESHEEA
a2 X R 94 m
RETFE) B 15em JE 1. Smm HEAKPEEHLEA
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T =X T R 140 m
(ﬁmﬁciﬁj ¥ 775 45cm JE1. 5mm HEAKMEEHES
(Er‘ﬂ'ﬂﬂ: i 190 m
ERLCTE) KHI-F05 30T 15emifa%E JE1. Smm
EFM@% £H
X H R T = 1, 932, 802 (Er‘ﬂ'ﬂﬂ: i 340 m
VAR TE) 928 15em JEL Smm HEAKPESEES
(Er‘ﬂ'ﬂﬂ: i 51 m
VAR TS AR 15em JEL Smm HEAKPESREES
(Er‘ﬂ'ﬂﬂ: i 280 m
(ﬁmﬁciﬁj Y7775 45cm JE1. 5mm HEAKMEEHES
(Er‘ﬂ'ﬂﬂ: i 200 m
ARLCTE) KHI- 505 3CF 15emifa% JE1. Smm
BEKPEELEA
[EAR 7S EES 914 m
V== 2y b
TE AT R itk T Y 230, 840
TERAT RS T = 103, 420 | fALARFH G 10 i
W= VeV SRERUATI47 ¢ 100 104SLL FE30A A
KR o B 5
FERR =8 Vo AR M7
TERAT RS T = 127,420 | fRRS B 10
W= V-V SRERUATI47T ¢ 100 10ASLL FE30A A
KR o B 5 N
FERR =8 Vo AR M7
R T = 145, 506, 307
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B R = 1 31, 418, 330
BISTIGE: = 1 15, 173, 330

TERE 2 1 13,793, 230 | Bk e iy 2y 1 F2V

EERC T Sy A ERVA e <y 1 =

IER M TR 1 =

HeffrE sy = 1 66, 100 | ASAH/ R AR H R BR 2 1 =

JE MR FAT - ERE 1 F2
BGRESGESE (5 L) = 1 1, 314, 000
B (R = 1 16, 245, 000
T = 1 176, 924, 637
Bl gy 2 1 55, 829, 000
T =5l = 1 232, 753, 637
— R A 2 1 35, 676, 363
TS 2 1 268, 430, 000
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